Write an equation of a circle with diameter AB. fic L\}Llr (y 1651— I
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Determine the center and radius of the circle described by the equation.
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Write the equation of the circle. ( ¥ L\) +( v —J(,B = -
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Determine whether the point (3,6) lies on the circle with radius 7 and center (- 2,1).
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Graph the circle.
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Find the measure of arc CD in ©OP.




What is the length of the arc shown in red? NnN= C‘CntIDﬂ.l L Mesure 60°
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What is the area of sector GPH?




Find the area of the shaded segment of the circle.
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The segment CDis tangentto ® T. Find m£TDC.
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If PQ and PR are tangentto @ E in the given figure, find the value of x. R
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The segments are tangents to the circle. Find the perimeter of JLNQ.
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Segments that appear to be tangent are tangent to both circles, and CD =32. Find AC. = %(
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If PQ and PR are tangentto @ E in the given figure, find the value of x. R
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In ® 0O, mCD =80° and CA = BD. Also, the center of the circle,
point O, is the intersection of CB and AD.
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Find the value of x.




Find the value of x.
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The diameter of a circle is 21 inches. The circle has two chords of length 14 inches. What is the distance from each chord to the center of the circle?
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Use the figure shown to the right to find the value of x.
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